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EEREBET -4V THER
BATE
B2 mem HEIHH 'Uex | ChER" | mhme | puag
(msv/h) | (mSv/h) | (Ba/em®) | (Ba/om®)
| 6/2  |masugE 1E 20E¢0 | 80E-2 | 48E+0
2 6/21 BEER AVTFUANIR 1.0E-2 51E+1
3 6/22 25 WEERY—F TR ELEBILRAIRL K 1.7E-1 8.3E+1 <1.69E-5
4 6/21 25 WEERY—F ALK EEEBILRAIRL K 1.8E-1 1.2E+2 <1.84E-5
5 6/20 25 WEERY—F ALK ELEBILRAIRS K 1.8E-1 1.1E+2 <1.84E-5
6 6/17 25 WEERY—F TR ELEBILRAIRL K 2.3E-1 6.9E+1 <1.69E-5
7 6/17 W55 ANEERATERA AEOTOVY 4.0E-1 1.4E+0 2.7E+1
8 6/16 W55 ANEERATERAL AEOQTOV) 3.0E-1 1.2E+0 2.9E+1
9 6/16 2EEERY—F AR ESFATERIB A 1.6E-1 2.2E+1 <1.85E-5
10 6/15 25 EERY—F AR ESFATE RIS A 1.4E-1 2.5E+1 <1.58E-5
11 6/21 Y—R(EHZMRRST)7) BRRE 1.0E-1 5.8E+0
12 6/23 Y—ROBEFRMRRSIV7) TiEE (C)EAMERED 1.0E+0 8.7E+0
13 6/20 Y—ROEZEMRRSTU7) T—XA—RUT1B 2.3E+0 24E+2
4| 6/17 v NERERBRERWEELIT) RERSIAEE 2361 8.3E+1
15 6/17 Y—ROBEFZRMRRSTY7) CRI‘LAVIPHE ZF IR U TR TC 1.6E-2 9.0E-1 >1.3E+3 <b.76E-5
16| 6/16  |v—FCBRMRRSIU7) CRILEIpHEIAFIE JoINALTC 18E+0 | 7OE+1 | >13E+3 | <6.76E-5
7] /16 v—w RS REREEWEELI?) AOHALN 1651 5.8E+0
8] 6/20 FEHBRERRBEL)Y) BRAS 1.0E-1 1.3E+2
9] 6/28 v MEHBRERRRETLIZ) AT BERSTBRFE 40E+0 | 4OE+1 | >14E+3 | <485E-5
20| 6/22 v FEHBREBRRELI?) HUI LR TIBAEN 15E-1 | 20E+0 | 94E+1 | <482E5
21 o0 T HEHBRERWRELI?) H LR ToBAER 2561 | 1262 | 66E+l
22| 6/22__ |v FEUBBERRRELY) MENSLATEBR) 10E-3 | 10E-3 | 17E+1 | <888E-5
28| 6/2 v FERERERMEETI?) LENSLAFIEBR) 20E-3 | 20E-3 | G3OE+1 | <838E-5
24 o0 v FERARERRRET)7) BREAAT 156+1 | 40E+2 | >14E+3 | <838E-5
25| 6/20 v FEUBRERRRELIZ) SUILRST1, 2BAFIE 25E-2 | 5062 | 68E+2
26| 6/20 v FEREBRERMEEII?) BREAEATF 20E1 | 102 | 45E+1 | <J0IE-6
27| 6/11 v rERERERREELI?) 3ok B B RFE 1661 | BOE-0 | >14E+3
28| 6/11 v FERERERMEETI?) BRBAEATH 5 561 1.3E+2
I T16-3 | 1163 | <17E%0
30| 6/20 |68 R/B 6K 1.6E-2 27E+0_| <68E-6
31 6/17.21 ;Ai%%BE{EU'\"—F R/BIEFEERT RyIAPILN— BFAEEE. T/B1E 3 0E+0 2 0E+0 1 3E+3
32| 6/1017 _ |3BMR/BEEY—F R/BEGEN KvoAhl — BHAELE 65E-1 | 25E+0
33| 6/20 __ |mm GRBR ERER 40E-6
S IR e e v fom o dees AL 2062 (30800
o i e o B 1.8E-2 H(147600) | <3.03E-6
36| 6/20  |MIEBIUT BRARB(Z—<LT ) 3.0E-2
37 6/22 BEALPSTY7 HIC 1.4E+2
38| 6/21 _ |MBALPSIUF BKEE HC BOE-1 | 4BE+1 | <64E-1 | <12E-4
39| 6/21  |[MBALPSTU7 s oARPHERFoF 7563 | 20E-1 | 10E+0 | <12E-4
40 6/21 BEALPSTY7 HIC 1.4E+2
41| 6/20 |[WBALPSIU7 Bm@RABMPHAAFFA 1262 | 80E-3 | <64E-1 | <1264
2] e/ ALPSTU7 /SyFME2APHEF> TS B0E-2 | 28E-1 | 85E+0 | <13E-4
43| 6/20 __|ALPSTU7 /uFME(APHEYILTYY 3562 | 11E-1 | 46E+0 | <13E-4
| 6/21 |t oimREs BEEES B_mE HO 20E¢0 | 10E+2 | 20E+1 | 68E6
5| 6/20 |t uimREs BEEES B_mE HO BOE+0 | 6OE+2 | 024E+1 | 18E-3
46| 3/29 |1 28mY CARE!, 2BT7 1451
a7 3/29 |3 4BMY CARE!, 2BT7 1.0E-1
8| 67 ME AR R 1263 C2AE-
] e/9 BRI 1B BT IR 274 180E-1 | <357E-6
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B2 mem HEIHH 'Uex | ChER" | mhme | puag
(mSv/h) (mSv/h) (Bg/em?) | (Bg/em®)
50 6/16 5-65% S/B 1 HRybIREM 1.8E-1 2.0E-1 <1.68E-1
51 5/13 HENTSH 2.0E-2 1.48E+2
52 6/20 15# R/B BAIv—K 8.0E-1
53 5/23 HAT-ILERSH 1.4E-2 2.97E+1
54 6/23 D NTNTR - TNRE YT 7.0E-2
55 6/14 Y —R(H442>HHBAV YT Y7 ) 7.0E-3 5.0E-2
56 2/29 2E5#S/B-RW/B 1.5E+1
57 6/20 H4%>5xT)7 HA—D9%RVH—E—-D142Y 1.2E-1 1.2E-1 <3.5E-1
58 6/16 H4%> 57 HA—D742>9—-E—-D14>4 1.5E-1 1.5E-1 <3.3E-1
59 6/14 H4%>45x)7 HA—D8ARVH—E—-D14>4 1.5E-1 1.5E-1 <3.5E-1
60 6/10 H4%>45x)7 HA—CH54 H—E—-D14>% 1.2E-1 1.2E-1 <3.5E-1
61 6/6 H4%>45x)7 HA—C6AVH—E—-D14>% 1.5E-1 1.5E-1 <2.6E-1
62 6/8 H4%> 45T )7 HA—C440H5—E—-D142% 1.5E-1 1.5E-1 <3.2E-1
63 6/20 H4%2>o )7 H4—DO"RVY 1.0E+0
64 6/16 H4%2> 57 HA—D722% <2.9E-1
65 6/14 H4%2>5 )7 H4—D8ARVY <3.1E-1
66 6/10 H4%2>5 )7 H4—C5%>% <3.5E-1
67 6/8 H4%Z> 5T )7 H4—C432Y <3.2E-1
68 6/6 H4%2> 5 T)7 H4—C6R>Y <2.7E-1
69 6/20 H4%2>5 )7 H4—DO"RVY <1.8E-5
70 6/17,21 H4%2>oT)7 H4—DO"RVY 5.2E+1
71 6/17,20 H4%2>5 )7 H4—DO"RVY 6.0E-1 3.2E+1
72 6/14 H4%2>H5 )7 H4—D8ARVY <1.6E-5
73 6/14,15 H4%2>H5 )7 H4—D8ARVY 1.1E+2
74 6/14 H4%2>5 )7 H4—D8ARVY 3.0E-1 1.5E+1
75 6/16 H4B2> 5T )7 HA—D722% <1.7E-5
76 6/15,17 H4B2> 5T )7 HA—D722%9 7.2E+0
77 6/15,16 H452> 5T )7 HA—D7422% 2.4E-1 1.0E+1
78 6/6 H452>5 )7 H4—C64R2Y <1.9E-5
79 6/17 H452>5 )7 H4—C64R2Y 1.1E+0
80 6/3,6 H452>5 )7 H4—CB6R2Y 1.0E+0 3.0E+1
81 6/10 H4%2>5 )7 H4—C5%>% <1.9E-5
82 6/8,14 H4%2>5 )7 H4—C5%>% 1.6E+0
83 6/9,10 H4%2> 57 H4—C5%>% 1.0E+0 2.6E+1
84 6/8 H4B2> 5T )7 HA—C432Y <2.2E-5
85 6/7.8 H4B2> 5T )7 HA—C432Y 6.0E-1 2.3E+1
86 6/79 H4%2> 5 1T)7 HA—C4727 9.2E-1
87 6/26 ALPSTV7 RikZEE HIC 6.5E-3 5.0E-2 1.2E+0 <14E-4
88 6/25 ALPSTV7 RikZEE HIC 6.0E-3 2.0E-3 8.6E-1 <14E-4
89 6/23 ALPSTV7 RikZEE HIC 2.6E+0 >1.0E+2 7.7E+1 <14E-4
90 6/23 ALPSTU7 REHEPHEH U TILTYI(A) 2.9E-1 1.1E-2 7.2E+0 <1.3E-4
91 6/22 ALPSTU7 HLHBVIPHEHVTILTYI(A) 8.0E-2 4 5E-1 1.9E+2 <1.3E-4
92 6/22 ALPSTV7 REHEIC 1.1E+0 5.0E+1 11E+2 <14E-4
93 6/26 WERALPSTU7 fi/kEE HIC 2.5E-1 2.5E+1 <6.4E-1 <1.2E-4
94 6/23 WRALPSTU7 #ika2ICHPHETRFUR 7.0E-3 5.0E-2 5.2E+0 <1.2E-4
95 6/22 WRALPSTU7 #Hik2VUBRAPHETRF YR 4 5E-2 1.6E-1 2.1E+0 <1.2E-4
96 6/22 HEHALPSTU7 RIEEOC 1.3E+0 7.0E-3 1.2E+1 <1.2E-4
97 6/20 HERALPSTU7 AT7HHIGR TTIT <6.4E-1
98 6/20 HERALPSTU7 REELSC 1.3E+0 6.0E+0 1.4E+1 <1.2E-4
99 6/27 V—REREBRERMIET)7) BLAE 8.0E-2 1.1E+2
100 6/29 [BEEBAYTFURANTR 7.0E-2 4 4E+1
101 6/24 [BEEBEAVTFURNTR BRILLAVIEBHEET—4 7.0E-2 2.0E-2 1.6E+2 <5.23E-5
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(mSv/h) (mSv/h) (Ba/cm® (Ba/om®)
102 6/23 BEEBAVTFTUANIR CRILAAV VBB E—S 7.0E-2 7.0E-3 1.1E+1 <5.23E-5
103 6/24 H9%> - x)7 H9—B2 <5.0E-4 <5.0E-4 1.7E+1 <8.1E-b
104 6/23 35 A—EVEE 1B t—42—1U7 RET—IL 2.5E+0
105 6/23 35 4—CEVERE 118 MOBT 2.5E+0 1.1E-4
106 6/24,29 '?’}%IB*%%QB%B*EJ)E”E‘;‘F_F R/Bﬁﬁﬁ%ﬁﬁ RYTRAHILIN—k vy 7IAS %Fﬁéﬁﬁfﬁ‘ﬁ\ 7.0E+0 2 5E+0 6.4F+1
107 6/21.24 ??J%_R_/FBEM‘V—F R/BiERREERT RyIRFILN—~ SFRAELSE.T/B 1 1 2E+0 2 9E+0 7 7E+1
108 6/30 '\”-F(%VEB?%E%EE&EI'J?) BERARVTIBRFUR 4.0E-1 2.0E+1 >1.4E+3 8.14E-5
109 6/29 —NERBRERMRELV?) HL- #6500 B)XFUR 1.8E+0 1.1E+2
110 6/29 VY—RNERBRERBRELV?) BHRESYVIN—EZID 1.0E-3 1.0E-2 4.5E+1
111 6/29 VRN ERBRERBREL)?) BRFEFEIFIR 3.6E-2 4.0E-1 >1.4E+3 <5.76E-5
112 6/29 VY—RNERBRERBRELV?) #HiL-#Hia50B)XFUR 9.0E-1 2.0E+1 >1.4E+3 1.22E-4
113 6/27 VY—NERBRERBRBELV?) BER27(B) L 3.0E-2 1.2E-1 8.3E+0 <2.97E-5
114 6/27 V—RERBRESZBREL)7) TH M7 (B) LE 2.2E-2 4.0E-2 2.5E+1 <2.97E-5
115 6/27 VR ERBREZHREL)7) BE50(B) LA 1.8E-2 8.0E-2 2.5E+1 <2.97E-5
116 6/27 V—RERBREZBRELV7) BRE=SYVTIL—FRLY 2.0E-3 7.8E+1
117 6/27 VY—RERBREZHREL)7) BREFEEXFIN 4.0E-2 5.0E-1 >1.4E+3 2.85E-4
118 6/27 VY—RNERBREXBRELV?) EMERBREEAFYRB) 2.0E-3 3.0E-3 4.4E+1 <b.76E-5
119 6/24 VY—RERBREZBRELVT) NvI74209(B) 5.6E-1 8.0E-2 3.9E+1 7.52E-5
120 6/24 V—RERBREZBREL)7) BRCFFRAT—U2ZF9R 6.0E+0 1.5E+2 >1.4E+3 4.46E-4
121 6/20 VR ERBREZFREL)T) 7.0E-2 2.4E-1 >1.4E+3
122 6/30 Y—ROEHEMRRST)7) BERGE 1.0E-1 4.9E+0
123 6/30 Y—ROEREBRBRERBRETL)Y) BRIEEER E~MEK 1.2E+0 1.3E+3
124 6/24 Y—ROEHMRRST7) CHRELIES VpHEt X F UK 4.0E-3 8.0E+2
125 6/23 Y—ROIEEMRRSTV7) ARKEFEERFIR 2.1E+0 3.5E-1 >2.9E+2
126 6/23 VY—ROERERBRERBREL)7) KBV RREES 2.0E-1 2.0E-3 1.7E+1
127 6/29 2SHWEERV—F TR ERBICAIR KB 2.6E-1 7.2E+0 <1.64E-5
128 6/23 2SHWEERV—F TR ERBICAIR A EE 2.0E-1 5.2E+1
129 6/21 THERMER 1/ SRRARE 1B JotXER 45 4.0E+0 4.0E+0 1.6E+1
130 6/30 ERHB L AERAD 3.0E-1 2.5E+1
131 6/23 ASHBRAEMREEVY—F 3.6E-2 2.5E+0
132 6/29 65 FlraE, JTOtAEREAR 1.0E-1
133 6/27 651 T/B 1B fREREZE 5.0E-4 <2.1E-1
134 6/27 651 T/B 1B fREREE 5.0E-4 <2.1E-1
135 6/22 251 35 T/B 1k t—4—= 5.0E+0 9.8E+1
136 6/21 258 RTIFERE 1 KUl A DR 1.5E+0 21E-4
137 6/14 FORBRIZEA (35 —F) 2.0E-2
138 6/27 BA RERRR - SEET 4.0E-6
139 6/29 IBEHARET)T 2.6E-1
140 6/27 IBEHARET)T 8.0E-2
141 6/21 4E5HWI—EVERE2M 1.1E-2 7.0E-3 6.25E+1
142 6/20 4E5HWI—EVERE2M 1.1E-2 7.0E-3 6.96E+1
143 6/16 45 HWI—EVEE2M 1.9E-2 1.9E-2 7.67E+1
144 6/15 4E5HWI—EVERE2M 2.0E-2 1.7E-2 <1.25E+0
145 6/20 45 R/B BAIV—REEAT—IILEAD 2.6E-1 2.84E+0
146 6/21 35 R/B #EIV—F 2.5E-1 <1.50E-5
147 6/23 158 R/B-T/B-¥—K 7.0E+0
148 6/20 154 T/B TR~ 25 6.0E+1
149 6/22 15# R/B 185 2B% 5.1E+1
150 6/20 15# R/B LAIEEAN—R 5.0E+1
151 6/7 154 R/B BRAIREAIN—R 1.28E+3 8.29E-6
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(mSv/h) (mSv/h) (Bg/em?) | (Bg/em®)
152 6/3 154 R/B BRAIEEHIN—RA 1.7E+0 8.5E+0
153 6/14 158 R/B #EAIVY—K 9.0E-1 1.21E+1
154 6/8 158 R/B wAIv—K 9.0E-1 2.13E+0
155 6/28 HEFALPST7 ZEEREERPHET A+ YRB 2.5E-3 2.0E-3 <B6.4E-1 <1.2E-4
156 6/28 BERALPSTU7 RBFEE9A 1.0E-1 7.0E-2 1.0E+0 <1.2E-4
157 6/27 HERALPSTY7 BikEE HIC 1.0E-2 <1.0E+0 1.3E+0 <1.2E-4
158 6/27 BERALPSTU7 RBEESA 1.0E-1 5.bE-2 <B6.4E-1 <1.2E-4
159 6/27 ALPST7 RKEHE14C 6.0E-1 2.7E-2 6.0E+0 <1.4E-4
160 6/24 HERALPSTY7 BikEE HIC 8.0E-2 5.0E+0 1.7E+1 <1.2E-4
161 6/23 HERALPSTY7 BikEE HIC 4.0E-3 <1.0E+0 <6.4E-1 <1.2E-4
162 6/30 #HALPSTUF 1.1E+2
163 6/29 BERALPSTY7 REE17A 1.2E-1 4.0E-3 7.8E-1 <1.2E-4
164 6/28 HERALPSTY7 BikEE HIC 3.0E-2 1.0E+0 6.5E+0 <1.2E-4
165 6/28 HEALPST7 1.1E+2
166 6/29 UV LREE—RRERS £ M HC 7.0E+0 3.0E+2 1.6E+2 5.4E-4
167 6/27 U LREE—RRERS £ M HC 1.1E+1 4 5E+2 9.3E+1 1.3E-4
168 6/29 154 T/B 18 e—4TU7 4 0E-1
169 6/29 15% T/B 1B E—42TU7 >2.6E+2
170 6/27 154 T/B 1R e—42TU7 1.8E+1
171 6/24 154 T/B thR1Kg HRETV7 2.0E+1
172 6/23 154 T/B thR1Kg HKETV7 6.0E+0
173 7/1 U LREE—RRERS £ M HC 3.0E+0 1.2E+2 1.6E+2 6.8E-5
174 7/2 HERALPSTY7 BikEE HIC 7.5E-2 5.0E+0 8.3E+0 <1.2E-4
175 7/2 HEALPSTY7 7.0E+1
176 7/1 HERALPSTY7 BikEE HIC 3.0E-1 3.5E+1 1.8E+0 <1.2E-4
177 7/1 HERALPSTY7 BikEE HIC 3.0E-1 2.6E+1 2.7E+1 <1.2E-4
178 6/27 ALPSTU7 fikEE HIC 4 0E-1 1.2E+1 1.8E+2 <1.3E-4
179 6/27 ALPSTU7 NyFRE(1C)PHEH U FILTVY 3.6E-2 9.5E-2 5.2E+0 <1.3E-4
180 6/28 ALPSTV7 NyFNIHE(2C)PHEI YV FILTvY 3.0E-2 1.8E-1 8.1E+0 <1.3E-4
181 6/29 ALPSTU7 #HEBVHPHE SV TILSYY 1.4E-1 1.3E+1 2.4E+2 <1.3E-4
182 6/29 ALPSTV7 #HxHoTILTvIA 7.5E-2 7.0E-1 >2.9E+2
183 6/30 ALPSTU7 WRFEEPHEY>TILTVY 1.8E-1 5.0E-2 9.5E+0 <1.3E-4
184 6/30 WRALPSTU7 #ika2UCHPHEFRFUR 1.2E-2 7.0E+0 1.0E+0 <1.2E-4
185 6/27 BREATV7) RETEHEREID~EHtEy2—FED 6.5E-3
186 6/29 BOALRIT7 &R 1.6E-2
187 6/13 EPRIERS HANERE 1R 1.3E-2 1.7E-1 2.45E+2
188 6/8 EPRIERS ENERE 1R 1.6E-1
189 6/8 EhRER%E SPTEERY 1.6E-2
190 6/8 ALPS3EY 2.0E+1
191 6/8 EFRERR FTTOEAEERE 1R 3.0E+0
192 6/24 354# R/B @wAIRUVEMAIY—F 8.0E-1 1.26E+2
193 7/5 5. 6EHAIEEREMREVY—F FTAREERBILA AXE@ODTOVY 3.5E-1 1.0E+0 3.4E+2
194 7/1 Wi5T5 FTNZEESRBALAIRE AEEOTavy 8.0E-1 1.8E+0 6.8E+1
195 7/1 2EMEER VYR TN ERBILAIRL kB 2.6E-1 6.8E+1 <1.51E-5
196 6/30 WiBITE AL ERBILAIRS KEEeTOYY 1.0E+0 2.0E+0 1.2E+1
197 6/30 2EMEER YR FTNZEERBILAIRL A EE 2.0E-1 1.9E+0 <1.67E-5
198 6/27 2EMEER VYR TN ERBILAIRL kB 2.5E-1 2.4E+0 <1.64E-5
199 6/24 2EMEER YR FTNZEERBILAIRL A EE 2.5E-1 5.0E+1 <1.53E-5
200 7/6 65H# T/B 1k MRERER 3.0E-4 <7.9E-1
201 7/6 65H# T/B 1k MRERER 3.0E-4 <7.9E-1
202 7/7 YR EREBHRERMMRBETV7) Hik- a2 (B) RFUR 1.8E+0 1.0E+1 1.1E+2 <4.82E-5
203 7/7 YR ERBHRERMBRETV7) Hik-#H207(A) XFUR 5.0E-2 2.0E+0 >1.4E+3
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(mSv/h) (mSv/h) (Bg/em?) | (Bg/em®)
204 7/6 EREBREZRBTYT chl, ch2T)7E=4—EY 2.0E-2 <2.7E-1
205 7/6 VY—RNERBRERBRBELV?) HiL-#Hia50B)XFUR 1.0E-2 1.5E-1 5.5E+2 2.04E-4
206 7/5 VY—MNERBRERBRELV?) BRAVFOEL Y EER 8.0E-2 4.0E-1 1.0E+2
207 7/4 VY—MNERBRERBRELV?) BRAVFOEL Y EER 2.5E-2 1.0E-1 4.3E+1 <6.56E-5
208 7/1 VYR ERBREBZBRETV7) HEAR 718 1.0E+0 4.0E+1 >1.4E+3 <5.76E-5
209 7/1 V—RERBREZBREL)7) T—RAEI—RU/T2BRF YR 5.0E-2 1.0E-1 3.7E+1 <5.76E-5
210 7/5 3EHR/BAERAIY—F NILFEIREB I SH# NALFEIBOX 1.0E+2
211 7/7 35 S—CEURERE 1B ROBT 2.5E+0 8.1E-b
22| 11 35 HT/BIBLOBT, TREHAERARES T2Ev0 | 35E+0
23] 1/ SEHT/BIE HOBT Z0E-1
214 7/1 Bliksr o7 3.0E-2
215 6/29 2,351 T/B 2B 2.2E-1 1.4E+2
216 7/4 25 HR/BAERAIY—F Eik/NE 1.6E+0 1.0E+2
217 7/1 #BA GTU7 BEZREMERX HCREIVT 2.3E-1 <2.1E+0
28| 6/30  |v FEHBREBREET)?) FRE=5Y I BESIEY T.0E-3 T1E+
219 7/5 15~35 @wAlv—F 1.4E+0
220 7/7 HO%> o x)7 7.0E-4 7.0E-4 <1.4E+0
221 7/1 H9%> 17 <5.0E-4 <5.0E-4 <1.4E+0
222 6/9 HWRANMNREA~MTYT 1.0E-1 1.0E-1
23] 6/6 NERBHNREBR) FHBRAMCLY) 6.5E-3
224 6/10 10M#&1 SH#T/B~35H#T/BAI 3.0E+0 3.0E+0 2.47E+1
225| _ 5/31 __|emmmAR H4_B3FHR 531
226 5/31 T)7S(—FHREZTUN) HA—B242Y 1.0E-2 4.0E+1 1.6E+1 1.2E-5
227 5/30 T)7S(—HREE TN HAE—B242Y 5.5E-3 6.0E+0 6.1E+0 2.4E-5
228 5/30 T)7S(—KREE TN HIE-Cl142% 2.0E-2 4 5E+2 5.9E+0 2.4E-5
229 5/30 EREMEE HAN—B4XR <5.3E-1
230 5/28 T)7S(—HREE TN HAE—B2424 7.0E-2 2.2E+1 7.4E+0 <1.1E-5
231 5/24 EREMAE H4—B2 1.6E-1 4.0E+1 >2.9E+2 8.8E-5
232 5/24 T)7S(—HREE TN HAE—B2424 9.0E-3 1.5E+1 3.3E+0 <1.1E-5
233 5/24 TU7S(—EHREETUN) HAN—B4%UY 2.0E-2 1.2E+2 6.7E+1 <1.1E-5
234 5/23 TU7S(—FHREETUN) HAN—B44UY 1.8E-2 8.0E+1 1.2E+1 <1.1E-5
235 6/8 T)7S(—HREETUN) HAE—B14VY 4.0E-3 5.0E+0 1.5E+1 <9.7E-6
236 6/8 EREMEE HAN—B1 7.0E-2 1.2E+2 >2.9E+2 <1.2E-5
237 6/7 T)7S(—EFHREETUN HA—B242Y 6.0E-3 1.2E+1 2.6E+0 <9.2E-6
238 6/7 T)7S(—HFHREETUN) HA—B342Y 1.5E-2 1.0E+2 5.4E+1 <9.2E-6
239 6/7 EMREMEE HAN—BbL <5.3E-1
240 6/6 T7S(—EHREETUN) HAN—B44UY 1.5E-2 1.1E+2 >2.7E+2 <7.9E-6
241 6/4 T)7S(—HHREETUN) HA—B342Y 8.0E-3 4 0E+1 6.8E+1 <1.1E-5
242 6/4 EREMEE HAN—BI1 5.6E-2 1.4E+2 >2.9E+2 <1.2E-5
243 6/3 T7S(—EHREETUN) HAN—B44UY 2.0E-2 5.0E+1 2.6E+1 <9.7E-6
244 6/3 T)7S(—HHREETUN) HA—B342Y 7.0E-3 8.0E+1 7.8E+1 <9.7E-6
245 6/2 T)7S(—HREE TN HAE—B2424 7.0E-3 2.6E+1 5.1E+1 1.1E-5
246 6/1 T)7S(—EHREETUN) HIE—Cl14Vy 5.0E-2 5.0E+2 1.1E+2 3.7E-5
247 6/1 EREMEE HAE—B2 4.0E-2 5.0E+1 1.6E+2 2.5E-5
248 6/1 EREMEE HAN—B4 2.0E-1 2.1E+2 2.3E+2 1.3E-5
249 6/8 EREMEE H4—B3 4.0E-3 1.0E+0 4 4E+1 6.3E-5
250 6/7 EREMEE HAN—B4 1.3E-2 2.5E+1 7.9E+0 4.4E-5
251 6/6 EREMEE HAN—B4, H4—B3, H4AN—B1 5.0E-3 2.0E+0 1.8E+1 2.5E-5
252 6/4 EMEMEE H4—B3. HAN—B4, HAN—B1 7.0E-3 3.5E+0 2.2E+1 3.8E-5
253 6/3 EREMEE HAE—B2, HAN—B4 9.0E-3 2.3E+0 2.2E+1 3.2E-5
254 6/2 EMEMEE H4—B2 HIE—C1, H4N—B4 2.0E-2 3.6E+1 5.3E+0 3.2E-5
255 6/1 EREMEE HAE—B2 H4—B3 5.0E-2 3.0E+0 6.4E+0 <1.2E-5




FERBEE-SIVIHER 6/6
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& . 1 = 1emigE 70 4 miRE RE 2 QPR
2| mEs BT ugE | 4EE | pREE | MEEE

(mSv/h) (mSv/h) (Bg/em?) | (Bg/em®)
256 5/31 ERMHMAE HIE—C1, HAE—A4, HAN—B4 5.5E-2 8.0E+0 9.3E+0 5.0E-5
257 5/30 TREHAE HAN—B4. HAE—B2 HAE—A4 2.5E-2 3.0E+0 3.9E+]1 2.5E-5
258 5/28 TRHAE HAE—B2, H4A—B2 46E-3 | <10E+0 7.3E+0 2.5E-5
259 5/24 TRHAE HAN—B4, HA—B2 8.0E-3 8.0E+0 11E+] 44E-5
260 6/29 BA HHEERIBTEEE A& 1.4E+0
261 7/4 YANNUABATFVRTIT) 8.0E-1 1.6E+1
262 2/25 %EM 2B ESE 3.23E+0
263 7/4 HOMBE S VTV BREFRME Y 6.0E-3 T4E+1 | <1.9E-5
264 7/5 AR REEAT 5.0E-3 5OE-3 | <36E-1 | <11E-5
25 | 6/297/4  |IEERBEMTN ROEREE RoADLATS AL FEREE TS, 1.3E+2 1.8E+0
266 /1 3EHR/BFEMIY—F ALFFUATUT T 2. 0E+0
267 7/7 TOeABEAERY—F £ r1=uMNED 2.0E-1
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